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[Question ID = 507][Question Description = Q01_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2025]
2. 2 [Option ID = 2026]
3. 3 [Option ID = 2027]
4, 4 [Option ID = 2028]
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[Question ID = 508][Question Description = Q02_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2029]
2. 2 [Option ID = 2030]
3. 3 [Option ID = 2031]
4. 4 [Option ID = 2032]
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[Question ID = 509][Question Description = Q03_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2033]
2. 2 [Option ID = 2034]
3. 3 [Option ID = 2035]
4. 4 [Option ID = 2036
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[Question ID = 510][Question Description = Q04_Gujarati_SHAAN_NOV20_shift1]
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. 1 [Opticn ID = 2037

2 [Option ID = 2038]
3 [Option ID = 2039]
. 4 [Option ID = 2040]
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[Question ID = 511][Question Description = Q05_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2041]
2. 2 [Option ID = 2042]
3. 3 [Option ID = 2043]
4. 4 [Option ID = 2044]
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[Question ID = 512][Question Description = Q06_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2045]
2. 2 [Option ID = 2046]
3. 3 [Option ID = 2047]
4. 4 [Option ID = 2048]
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[Question ID = 513][Question Description = Q07_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2049]
2. 2 [Option ID = 2050]
3. 3 [Option ID = 2051]
4. 4 [Option ID = 2052]
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[Question ID = 514][Question Description = Q08_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2053]
2. 2 [Option ID = 2054]

| 3. 3 [Option ID = 2055]
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| 4. 4 [Option ID = 2056]
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[Question ID = 515][Question Description = Q09_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2057]
2. 2 [Option ID = 2058]
3. 3 [Option ID = 2059
4. 4 [Option ID = 2060]
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[Question ID = 516][Question Description = Q10_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2061]
2. 2 [Option ID = 2062)
3, 3 [Option ID = 2063]
4. 4 [Option ID = 2064]
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[Question ID = 517][Question Description = Q11_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2065]
2, 2 [Option ID = 2066]
3. 3 [Option ID = 2067
4. 4 [Option ID = 2068]
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[Question ID = 518][Question Description = Q12_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2069]
2. 2 [Optien ID = 2070]
3. 3 [Optien ID = 2071]
4. 4 [Option ID = 2072]
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[Question ID = 519][Question Description = Q13_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2073]
2. 2 [Option ID = 2074]
3. 3 [Option ID = 2075]
4. 4 [Option ID = 2076]

14)

(D
2
(3

(4

“€Wis" Hi Sl LRIdle] wUAUIa &1 otef] ?

GSIERa
Gopioto] 214% Gga
goHiot—Aldlie] Bictol

galol GSIPRol

[Question ID = 520][Question Description = Q14_Gujarati_SHAAN_NOV20_shift1]
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1 [Option ID = 2077]
2 [Option ID = 2078]

[Option ID = 2079]
[Option ID = 2080]

13)  puedq v s¢f slcpi [@3uR] 872

(1)
2
3
(4)

glalfais!
oinyiofl Uiy
ol£13101

Vi2lo]S

[Question ID = 521][Question Description = Q15_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2081]
2. 2 [Option ID = 2082]
3, 3 [Option ID = 2083)
4. 4 [Option ID = 2084]
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[Question ID = 522][Question Description = Q16_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2085]
2. 2 [Option ID = 2086]
3. 3 [Option ID = Z2087]
4, 4 [Option ID = 2088]

17)  rus AR Aoll [o1i6id (ot 2A1[BcRioN 2401121 &t 7

prepp

Your Personal Exams Guide



www.prepp.in
@ sk Al
@ Aol Aesal
3 oSk (e
(@  A%¥s ulden

[Question ID = 523][Question Description = Q17_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2089]
2. 2 [Option ID = 2090]
3, 3 [Option ID = 2091]
4. 4 [Option ID = 2092]
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[Question ID = 524][Question Description = Q18_Gujarati_SHAAN_NOV20_shift1]
. 1 [Option ID = 2093]
2 [Option ID = 2094)]
. 3 [Option ID = 2095]
. 4 [Option ID = 2096]
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[Question ID = 525][Question Description = Q19_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2097]
2. 2 [Option ID = 2098)
3. 3 [Option ID = 2099]
4, 4 [Option ID = 2100]
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[Question ID = 526][Question Description = Q20_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2101]
2. 2 [Option ID = 2102]
3. 3 [Option ID = 2103]
4, 4 [Option ID = 2104]
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[Question ID = 527][Question Description = Q21_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Opticn ID = 2105]
2. 2 [Option ID = 2106]
3. 3 [Option ID = 2107]
4. 4 [Option ID = 2108]
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[Question ID = 528][Question Description = Q22_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2109]
2. 2 [Option ID = 2110]
3. 3 [Option ID = 2111]
4, 4 [Option ID = 2112]
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[Question ID = 529][Question Description = Q23_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2113]
2. 2 [Option ID = 2114]
3. 3 [Optien ID = 2115]
4. 4 [Option ID = 2116]
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[Question ID = 530][Question Description = Q24_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2117]
| 2. 2 [Option ID = 2118]
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| 3. 3 [Option ID = 2119]
4. 4 [Option ID = 2120]
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[Question ID = 531][Question Description = Q25_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2121]
2. 2 [Option ID = 2122]
3. 3 [Option ID = 2123]
4. 4 [Opticn ID = 2124]
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[Question ID = 532][Question Description = Q26_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2125]
2. 2 [Option ID = 2126]
3. 3 [Option ID = 2127]
4, 4 [Option ID = 2128)
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[Question ID = 533][Question Description = Q27_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2129]
2. 2 [Option ID = 2130]
3. 3 [Option ID = 2131]
4. 4 [Option ID = 2132]
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[Question ID = 534][Question Description = Q28_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2133]
2. 2 [Option ID = 2134]
3. 3 [Option ID = 2135]
4, 4 [Option ID = 2136]
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[Question ID = 535][Question Description = Q29_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2137]
2. 2 [Option ID = 2138]
3. 3 [Option ID = 2139]
4. 4 [Option ID = 2140]

30 ieNei ugldai sef ugldon 22 &q) oigfl 2
1)y  MEbls
@  uda
3 9k
@  MRIGIS

[Question ID = 536][Question Description = Q30_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2141]
2. 2 [Option ID = 2142]
3. 3 [Option ID = 2143]
4, 4 [Option ID = 2144)
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[Question ID = 537][Question Description = Q31_Gujarati_SHAAN_NOV20_shift1]
1, 1 [Option ID = 2145]
2. 2 [Option ID = 2146]
3. 3 [Option ID = 2147]
4, 4 [Option ID = 2148]
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[Question ID = 538][Question Description = Q32_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2149]
2. 2 [Option ID = 2150]
3. 3 [Option ID = 2151]
4, 4 [Option ID = 2152]
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[Question ID = 539][Question Description = Q33_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2153]
2. 2 [Option ID = 2154]
3. 3 [Option ID = 2155]
4. 4 [Option ID = 2156]
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[Question ID = 540][Question Description = Q34_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2157]
2. 2 [Option ID = 2158]
3. 3 [Option ID = 2159]
4, 4 [Option ID = 2160]
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[Question ID = 541][Question Description = Q35_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2161]
2. 2 [Option ID = 2162]
3. 3 [Option ID = 2163]
4, 4 [Option ID = 2164]
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[Question ID = 542][Question Description = Q36_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2165]
2. 2 [Option ID = 2166]
3. 3 [Optien ID = 2167]
4. 4 [Option ID = 2168]
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[Question ID = 543][Question Description = Q37_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2169]
2. 2 [Option ID = 2170]
3. 3 [Option ID = 2171]
4. 4 [Option ID = 2172]
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[Question ID = 544][Question Description = Q38_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2173]
2. 2 [Option ID = 2174]
3. 3 [Option ID = 2175]
4, 4 [Option ID = 2176]
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[Question ID = 545][Question Description = Q39_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2177]
2. 2 [Option ID = 2178]
3. 3 [Option ID = 2179]
4, 4 [Option ID = 2180]
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[Question ID = 546][Question Description = Q40_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2181]
2, 2 [Option ID = 2182)
3, 3 [Option ID = 2183]
4, 4 [Option ID = 2184)
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[Question ID = 547][Question Description = Q41_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2185]
2. 2 [Option ID = 2186]
3. 3 [Option ID = 2187]
4. 4 [Option ID = 2188]
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[Question ID = 548][Question Description = Q42_Gujarati_SHAAN_NOV20_shift1]

1. 1 [Option ID = 2189]
2. 2 [Option ID = 2190]
3. 3 [Option ID = 2191]
4. 4 [Option ID = 2192]
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[Question ID = 549][Question Description = Q43_Gujarati_SHAAN_NOV20_shift1]

siagionrm Huidlol ...

(A)
(B)
(C)
@)
(E)

ollAeiriell 2o [Aseu ue 5.

(1)
2)
(3
@

eogcio vilol 2IR1RIE VoS HIREA
SEIRISE U221 215 A%Rd
1R os P2 e

HigeR2loA dat A (G2
glos 2 2 ARBA-[ARGRSsU AR

@®) ¥ial () HI
(A) 20t (B) I
(C) ¥ial (D) HIH
D) 3 (E) HIA

1. 1 [Option ID = 2193]
2. 2 [Option ID = 2194]
3. 3 [Option ID = 2195]
4. 4 [Option ID = 2196]
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[Question ID = 550][Question Description = Q44_Gujarati_SHAAN_NOV20_shift1]
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1. 1 [Option ID = 2197]
2. 2 [Option ID = 2198]
3. 3 [Option ID = 2199]
4. 4 [Option ID = 2200]
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[Question ID = 551][Question Description = Q45_Gujarati_SHAAN_NOV20_shift1]
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1. 1 [Option ID = 2201]
2. 2 [Option ID = 2202]
3. 3 [Option ID = 2203]
4. 4 [Option ID = 2204]
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[Question ID = 552][Question Description = Q46_Gujarati_SHAAN_NOV20_shift1]
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1. 1 [Option ID = 2205]
2. 2 [Option ID = 2206]
3. 3 [Option ID = 2207]
4, 4 [Option ID = 2208]
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[Question ID = 553][Question Description = Q47_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2209]
2. 2 [Option ID = 2210]
3. 3 [Option ID = 2211]
4. 4 [Option ID = 2212)
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[Question ID = 554][Question Description = Q48_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2213]
2. 2 [Option ID = 2214)
3. 3 [Option ID = 2215]
4, 4 [Option ID = 2216]
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[Question ID = 555][Question Description = Q49_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2217
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[Question ID = 556][Question Description = Qb0_Gujarati_SHAAN_NOV20_shift1]
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1. 1 [Option ID = 2221]
2. 2 [Option ID = 2222]
3. 3 [Option ID = 2223]
4, 4 [Option ID = 2224]
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[Question ID = 557][Question Description = Qb1_Gujarati_SHAAN_NOV20_shift1]
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1. 1 [Option ID = 2225]
2. 2 [Option ID = 2226]
3. 3 [Option ID = 2227]
4. 4 [Option ID = 2228]
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[Question ID = 558][Question Description = Q52_Gujarati_SHAAN_NOV20_shift1]
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[Question ID = 591][Question Description = Q85_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2361]
2. 2 [Option ID = 2362]
3. 3 [Option ID = 2363]
4. 4 [Option ID = 2364]
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[Question ID = 592][Question Description = Q86_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2365]
2. 2 [Option ID = 2366]
3. 3 [Option ID = 2367]
4, 4 [Option ID = 2368]
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[Question ID = 593][Question Description = Q87_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2369]
2. 2 [Option ID = 2370]
3. 3 [Option ID = 2371]
4. 4 [Option ID = 2372]
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[Question ID = 594][Question Description = Q88_Gujarati_SHAAN_NOV20_shift1]
| 1. 1 [Option ID = 2373)
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| 2. 2 [Option ID = 2374]
3. 3 [Option ID = 2375]
4. 4 [Option ID = 2376]
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[Question ID = 595][Question Description = Q89_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2377]
2. 2 [Option ID = 2378]
3. 3 [Option ID = 2379]
4. 4 [Option ID = 2380]
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[Question ID = 596][Question Description = Q90_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2381]
2. 2 [Option ID = 2382]
3. 3 [Optien ID = 2383]
4. 4 [Option ID = 2384]
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[Question ID = 597][Question Description = Q91_Gujarati_SHAAN_NOV20_shift1]
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1. 1 [Option ID = 2385]
2. 2 [Option ID = 2386]
3. 3 [Option ID = 2387]
4. 4 [Option ID = 2388]
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[Question ID = 598][Question Description = Q92_Gujarati_SHAAN_NOV20_shift1]
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2. 2 [Option ID = 2390]
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4. 4 [Option ID = 2392]
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[Question ID = 599][Question Description = Q93_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2393]
2. 2 [Option ID = 2394
3. 3 [Option ID = 2395)
4. 4 [Option ID = 2396]
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[Question ID = 600][Question Description = Q94_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2397]
2. 2 [Option ID = 2398
3. 3 [Option ID = 2399]
4. 4 [Option ID = 2400]
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[Question ID = 601][Question Description = Q95_Gujarati_SHAAN_NOV20_shift1]
. 1 [Option ID = 2401]
. 2 [Option ID = 2402]
. 3 [Option ID = 2403]
. 4 [Option ID = 2404]
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Topic:- 37Gujarati_C
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[Question ID = 602][Question Description = Q96_Gujarati_SHAAN_NOV20_shift1]
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[Question ID = 603][Question Description = Q97_Gujarati_SHAAN_NOV20_shift1]
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[Question ID = 604][Question Description = Q98_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2413]
2. 2 [Option ID = 2414]
3. 3 [Option ID = 2415]
4. 4 [Option ID = 2416]
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[Question ID = 605][Question Description = Q99_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2417]
2. 2 [Option ID = Z418]
3. 3 [Option ID = 2419]
4, 4 [Option ID = 2420]
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[Question ID = 606][Question Description = Q100_Gujarati_SHAAN_NOVZ20_shift1]
1. 1 [Option ID = 2421]
2. 2 [Option ID = 2422]
3, 3 [Option ID = 2423]
4, 4 [Option ID = 2424]

Topic:- General Paper_Set1_A
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Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Ji2
Sales (SA) 12% 513
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 517
Management (MA) 21% 3:4
Production and Transport (PT) 19% A% a
Others (OT) 6% 3:68

Frefafaa arfoem W fem Hif fomd o & gn v 9 oem # fafim omi 9 wa & Felsa = wfowa
(%) fommo @ yEu-AfEen weew oTde mia T 2| 't & % Fo wEee 9 sem 80 @ 2|
aiferT § 128 7T STERST 3 STHR W 9T o o i)

G % S T ERaT T

| TR #7 &3 | TR T FEEA
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stca (%) fom | gea-wifgen agu@ (37 )
Ta (TH §) 15% 3:2
Hed (TE 1) 12% 5:3
Fmtor =1t arear (di w) 9% 5:4
ArFTEe (d 2TR) 18% 5:7
weuA (T U) 21% 3:4
Ieures IR ufiaes (4 3) 19% fis
317 (a0 &) 6% 315

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2} 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft &=t it e 5 SrEe i oltea geE 991 27 (S9med % 31 9] a)

(1)  6.39 @@ () 4.69 @@

(3)  5.96 TT@ @) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 8.2
Sales (SA) 12% h:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% G
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafa afee W fem Hift fomd o & gn 99 9 oem % fafiw o 9 wa & Feisa = wfoea
(%) o qon gEu-afien e oum qmta T 2wyl EEl 5 P FEed B e 80 9™ 3|
aifers 7 4T T SRS % AR W ATT o IR Ao

R % e =1 @y o
TR H7 & I o Frfere
st (%) fom | gea-afgen oo (37 )
Ta (TF §) 15% 3:2
Tew (TE 1) 12% 5:3
Fmtor 3t e (di u) 9% 5:4
ArFTEE (F 2TR) 18% 5:7
weaA (T U) 21% 3:4
Ieures IR ufiae (di ) 19% 8
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

Ty § S it SR & W A wiEen e 6 Po gem d W & H HreEd Yee wrEed S aed Hw5

foram wfeea 27
(1)  8330%
(3) 320%

(2) 318%
(4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (5E) 15% Ju
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% b
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5:3
Others (OT) 6% 3:6

Frefefig wferes w faem fifsg fmd o e ge ot | toem o fafhm gt 4 awa = selew =0 i
(%) faemm @ wy-ufen weise oETa qutm T B Wl &9 % @ wEsa  GEm 80 @ng 2
qrferser 7 U 77U RS & IER G YT = I Y]

TG % FHEEe T AFar G
TSI, oh1 &5 HIq = e
wtcrr (%) fereron | gew-mfgen sgma (307 )
o (Td %) 15% 3:2
Tow (T T) 12% 5:3
fmtor 3fit smeawr (ot @) 9% 5:4
arbere (i 31m) 18% 5:7
weIeA (T U) 21% 3:4
IeaTEa iR uftEsa (i ) 19% 5:3
37 (3 &) 6% 3:5

The number of male workferce in SA and MA sectors put together is approximately what percent of the total number of

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) B5%

TH T 3R T U & § HE Y5 e i F we 9 & 47 § wEW Seea 3o GO H e
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Thd-l HIded & ¢

(1) 82%
3 89%

2 87%
4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector

Workforce of India

Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% s B
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% b
Management (MA) 21% 3:4
Production and Transport (PT) 19% D1a
Others {(OT) 6% 335

Frefafaa arfeem W fem Hifte fomd o & gn 4 9 Goem % fafim emi 9 wwa & Fesa = wfoea

(%) T @ yEu-AfEen Fesw oTue w2 'l & % P wEee @ sem 80 @ 2|

aifers | 88 TU SRS & SR W TYT % IaT aler)

A = AN 1 EGR T
TR 57 & R o1 Frer
stc (%) fom | gea-wfgen oo (37 )
a1 (TF 3) 15% 3:2
eE (TE T) 12% 5:3
ot 23R orRar (i ) 9% 5:4
ArEeEe (F 2TR) 18% BT
weuA (T U) 21% 3:4
IeureR iR ufiag (di ) 19% BB
317 (21 &) 6% %45
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH U 3R ©H U a8 § FEE Aleen FEEd ®i Fo aea o §i & 47 # g aften seww f dem w

3R e 27

(1) 5.1 i@

(3) 5.7 &g

(2y 7.5 @

(4) 13.2 9@

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8037]
| 2. 2 [Option ID = 8038]
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| 3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

%) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (5E) 15% Ji2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% bod
Professional (PR) 18% e
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5td
Others (OT) 6% 3:6

Frefefiga wferes w faem Hifsg fmd v o ge ot o toem o fafim gt 4 awa = selee = i
(%) Tararor on ge-afgen wElse sgud qatn T g1 wft &9 % P wEEd 6 GEm 80 u@ 2

qrferssr ¥ 34 70 RS % YR W YT = I AFAg)

I % FHEEe 1 A% G
TSI, ohT &5 HIGq = e
vt (%) forwor | ge9-ufgen ego@ (g0 )
o (vd %) 15% 3:2
Tow (T 1) 12% 5:3
fmtor 3fit smeaor (ot @) 9% 5:4
wrbeEE (i 3TR) 18% 517
oA (T ) 21% 3:4
Iere 3R ufimsa (41 #) 19% 5:3
37 (31 &) 6% 3:5
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What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT

sectors put together?
(1)17 : 39 (2)16: 37
(3)16 : 35 (4) 16 : 39

Ht T &9 ® HERG Afeen HESd i 96 AR 9 AR TE 3N A &E § HeRd 95 wEed $i fel Qe &6

ST T B ?
(1) 17:39
(3) 16 : 35

(2) 16:37
(4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4, 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level

(3) Reflective level (4) Autonomous development level

" -~ ] " -~

M

=

- L
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HEAM = THE L H HEH SN = AN -1 0 Higd i S S8 ST d dgaish™ W aidl & 1

(1) gk == (2) =T T
3) HHRX (4) P T T

[Question ID = 2012][Question Description = Q06_GP_20NOV_51_SHAAN]
Te 5

[Option ID = 8045]
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047]
4, 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A} Self efficacy

(B) Planning

(€) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafgn F2 giatg s amarett 6it g 2 G sroamm gedl ffie wial = meam 9 faf=a e
T 21 59 IR S weER smaE i avard 8| 39 @ F1 of guae Heer e ¥ e ordt £7

(&)  omem-aHal (wme)

®) FrERE

(C) e = afefa
D)

(B)

= o o famedt § ¥ wE S 1 99 Fite

1) (A FR®B)
@ (B (C)
@) (D) R (E)
@  (B)RD)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8049]
2. 2

[Opticn ID = 8050]
Al

[Option ID = 8051]
4, 4

[Option ID = 8052]

3) Match List | with List Il
. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.
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List I List 1l
Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (1) Using Swayam and Moocs

(B} Open and distance learning method (ll} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(), (B)-(I1}, (C)-(lIN), (D)-(1V)
(2) (A)-(ll1}, (B)-(1¥), (C)-(D), (D)-(II)
(3) (A)-(IV), (B)-(N1), (C)-(N), (D)~(1)
(4) (A)-(ll), (B)-(1), (C)-(IV}, (D)-(llI)

g1 % w11 1 e i) g=h-1 9 o= afam wwened § frgo 6 et 4 o ¥, safe g=h-

113 siform fafirt & vamesfiaa s 4 g & g 3

(A)
(B)
(©)
D)

5 for o faweal § O e SO% w1 99 Hie

1)
(2)
(3)
4

ft-T

ooy it fafern
HIH-gEH 1 Safsharcen R
Ty I gt wiftm fafy
foreqor it Jafees fafy

freror it s &y

(A)-(D), (B)-(D), (C)-(IL), ()-IV)
(A)-(1L), B)-(IV), (C)-(I), (D)-(1I)
(&)-AV), (B)-(I1I), (C)-AD, (M-
(A)-dD, B)-D). (C)-AV), (D)-(11I)

FI1
U] SgH i dhAlD
D) wa=d R qeg & JEe
Iy TRl e dha
(I1I) Wiser reumen= araf
(IV) uicsal % wy-wy fameis mwa

[Question ID = 2014][Question Description = Q08_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054)]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056)

4) Given below are two statements
Statement (I) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and

abilities.

prepp
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Statement (1) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement (I} and Statement (ll} are correct

(2) Both Statement (1) and Statement (I) are incorrect
(3) Statement (l) is correct but Statement (ll) is incorrect
(4) Statement (1) is incorrect but Statement (11} is correct

=97 (D) :

97 (1D)

Iqeife TR sifverman oo =i wenf=l & T SR 39 auar $1 a0 d@T w5

T e % e AR T S 2

Fegfg =afeea wlam i nadm =afraa v et + fafie smer 3 o

T w4 % TR O R e w R )

SUUH FIA = ATARR 7, S U T wedi 1 8 @98 SISt =99 Hifa

(1)

N

A (I) 3 (I1) 31 wa) 3

FOT (T .'::ﬂr (TTY :l-'\r:-"i T %I
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bl s ~ v b peRebatt, ey ity MEREIRT ~ "

(3) =y (D EH 2, < 2 (1D o R
4)  H (D) 7o 2, SFm w99 AD w5 21

[Question ID = 2015][Question Description = Q09_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8057]
. 2 [Option ID = 8058]
. 3 [Option ID = 805%]
4 [Option 1D = 8060]

oL B

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but {R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

fie 2t o= g e : ©F iR (Assertion A) % &1 7 fafa @ @1 g@u 3w F (Reason R)

&Y .

Af5FHIT (A) : foreqor o smgfiep &R o3 & & s wEmEa onst = PR wEeE sritm wiwm
i TEAY &9 2

w0 (R) ; et ol firerr wEmEar wonelt = siftem aftTufet 4 guw % @y 9w e am
ey

TN FHIE + oTew 5, 9 for e foweni € | w8 swow = Fif

1) (&) IR R) I T § AR R), (A) F T = )

@) (@ 3 R)IE I &, I R), Q) @@ =men 71 2
@) (A T 2, A ®) e 2

4)  (A) md 3, I (R) 93 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Optien ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fora e % Ty # wlgarfi-ufdes = Demniss e S e ?

(1) I (2) fetae Wiy
(3)  SuHATHE WY (4) TETIETE WY

[Question ID = 2017][Question Description = Q11_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4, 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B} Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)
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- (3) (€) and (D)
(4) (D) and (E)

uitsreu aftemr St afoife o @t ofigf® = oufe % =v 4 2t 3, oy 6 f=fafea § @ &

] T GUHE 27

(A)  faawones &t

(By  w=ien=s fafy
(C) = fafy
(D) et Oty

(E) ==mwEmess iy

F= fou o famwedt § ¥ O 3w w1 9 ST

1 @B
@  (BR©
3 (O RD)
@ (D) HR(E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]

o 2

1 [Option ID = 8069]
2 [Optien ID = 8070]
3 [Option ID = 8071]
4 [Option ID = 8072]

8) Match List | with List I, List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (l) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1I}, (B)-(IV), (C)-(11), (D)-(1)

(2) (A)-(1), (B)-(I1}, (C)-(INN), (D)-(IV)

(3) (A)-(I), (B)-(llT), (C)-(1), (D)-(IV)

(4) (A)-(I1}, (B)-(1), (C)-(I), (D)-(IV)

gf-1 % @ geh-11 1 fiers Rt geh-1 9 iy = w0 e 3, 9t gef-I1 4 37 g uge oo

FHt-I FHI-1T
e % = T H AT STl T
(&) =wE g () TSI %1 AR SR AT T
(B) uftserw Fmin (1) U TEe B2 © 3HEE B
(C) wiiceaa wiem =1 =3a (III) = % &7 ® ge7 774 33
(D) s fagemm (IV) MY % =0 & = geg i =

F= f2u mu foweat © @ v s w1 WA Fifm

1) A-dID. B)-AV), (O)-aD)., (D-(
2 A-D. B)-dD. (O)-AID), (D)-AV)
(3  (A)-dD. B-1I), (C)-D). (D)-AV)
4  AQ-dAID, B)-@). (C)-dD). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]

| 4

1 [Option ID = 8073]

prepp
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| 2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article,

Statement () : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement () are true

(2) Both Statement () and Statement (Il) are false

(3) Statement (1} is true but Statement (ll} is false

(4) Statement () is false but Statement (I} is true

Hi= g wm fgr e E

F97 () : Th TU-TEY SR WE-TT § qEa s d@eHT % taed iR Weh % sftw R stae 7
B 2l

w97 (ID) : iy wadt A ok s sgaen wsht mdl % e stfam R

ITUH HA H T 4, = B o eeedl 4 O @t s 9 i

Q) = D) iR 1) 2 gea 3
2 =y (O 3 AD T FwA 2

3 =y Q) " 2, A A (D) s\ed 2

@) A () 5\ B, 9 meE (1) 99 2

[Question ID = 2020][Question Description = Q14_GP_20M0V_S51_SHAAN]
1 [Option ID = 8077]
2 [Option ID = 8078]
. 3 [Option ID = 8079]
. 4 [Option ID = 8080]

bl D

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) {(A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

F= @t = for € wm sfuwem (ﬁssertionA)%mﬁ%%ﬁaﬂmﬁw(ReasonR)

* % H

Aty (A) et miy oferea (Hy) 1 Faesofa aferegr (Ho) R ggmar @ wdaor fen s
=R

FRIT (R) : e witwes (Hy) i wekemfa 1 s1figfe g v @ 76 6 s et 21

U YA *h AT §, A U o faeredt W O qed 3uhT TR W 9AA HIT

1) (A) 3 ®R) AT G T @R (R). (A) F W =Em 2

(2) (&) ®R) I T 3, AR (R), (A) F @ s@wEm T 2
@ (A2, dfFF ®) T8 TE R

@ Q) "d TE 2, 9 R) =@ R
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[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8081]
. 2 [Option ID = 8082]
. 3 [Option ID = 8083]
4 [Option 1D = 8084]

oL B

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

T TE qiteg g o udm uE foewm Freafafea 4 @ G 5ty =t w20

(1) 30 St (2) 30 T%
(3) 15 3FAT (4) 15 T

[Question ID = 2022][Question Description = Q16_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopm THTERT 1 Td- o= (A "Let truth prevail” 87

O  f e Q) TE A 3
@ fafm @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 80%91]
4, 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R} : Internet is tending to eclipse broadcast media,

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= g e fau g ;v srfieme (Assertianﬂ)%ﬂﬁ%f@ﬂ%ﬁ@ﬂ?ﬂ%w(ReasonR)
FEIH

a1fiepeE (A) | aAftrs wan (sigsre) sapa i gafweie i disia g 2, v =3 Hign
) e T SOF U9 U2 @ 2

FRO (R) FER TERY (Fiswne) Hitea e 2 i 8T WoE 2
ST Y e 5, e 2 U faereut O @ e IURs TR O T S

1) (&) 3t ®) A g 2 = (R). (A F wd =men 3

@) (AR @) A FE E, At ®), Q) B s T Y
(3) (M TR, @ (R) g 78 2

@) (A= TE 2, 9 (R) WE B

[Question ID = 2024][Question Description = Q18_GP_20N0OV_S1_SHAAN]
. 1 [Option ID = 8093]
2 [Option ID = 8094)]
. 3 [Option ID = 8095]
. 4 [Option ID = 8096]

P bl D —

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
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what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect,
Choose the most appropriate answer from the options given below :
(1) {A) and (B) only

(2) (B) and {C) only

(3) (C) and (D) only

(4) (A) and (D) only

FEER % SUd & Bg TRl Uiel AeRhies RE TR ¥ T TR e 9 vl dfed guv

(A) wumE fagm fafimt f ama 6 @ 59 % R
B = wia safim Hive % @ wfew 23 % g
(©)  smiferr A Rrar wonelt 1 w7 s fg

(D) =g gon s9H = fore Fr difgan o yee we @i giar 21

e fau e feredl § O el IUgT 3T W 93 il
(1) FFd (A) iR (B)
2)  FaF (B) 3T (O)
(8)  =aw (C) 3 (D)
(4) T« (A) D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

{B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B}, (C) and (D) only

(3) (C), (D) and (E) only

(4} {A), (C) and (D) only

o & 7 g d @ e £ wEEmie st . e S

(&)
(B)  mwa
(© g
(D) ety

(E) &I = 9 86

9 fan o fawedl 9 ud I w1 w9 Fifew .

(1Y =FHae (A (R 3T (O
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2) #FFa (B). (C) 2R (D)
(3) %9 (C). (D) 3R (E)
4  FI (A), (C) 3 (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3, 3 [Option ID = 8103)
4, 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs, 5,000, find the average monthly
income of the family

(1) Rs, 3,000/- (2) Rs, 4,000/-

(3) Rs. 5,000/- (4) Rs, 6,000/-

U T4 % S0F U TRER W ofigd Wik o uuY 3 WEFT § 4000 T, 3G IS 4 Her 0 4500 T
R FAfaw s wEEl #5000 ¥ 97| Al 3w ¥ % I B w4 5000 FuF oft A1 3@ gREw I simd

i 31 feret ofi?
(1)  3000/- ¥ (2) 4000/- T
(3  5000/- T (4) 6000/ T

[Question ID = 2027][Question Description = Q21_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 @ 90 = st= it ol ararsw weme # sitgd sdd -

(1) 76.5 (2) 98.25
(3) 55.75 (4) HB.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112)

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

T ARG 33 WX 39 99 W 11 X U % e e F v @ a1fSia FRa 21 wfwd § @

x| L
1 25% (2) 50%
(3  T0% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

o7 Tl =g o1 Wi ged Sue Fosea ged w1 95% 2 i e A wfawren @ 27
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(1)  4.26% @ 5.26%
@ 5% @ 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/~ (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

Ifg g =afe frdt agg = 25% gfawa 6 o F 38 1200/~ 7 F d=ar 2 9t 30% A FAH 5
fore =@ =w =g = fw Fima W s= =i @ e

(1) 1600/~ v (2) 2000/- w3
3  2080/- ¥ @ 1560/- T3

[Question ID = 2031][Question Description = Q25_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
uncobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

Te YA e | e w FAefatga § @ f9-m g9 ome atg S FRl §19 95g 3 maEa )

ATl 27
(1) vl (2) IgHA
(3) sTEE (4) IFaeley

[Question ID = 2032][Question Description = Q26_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B}, (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

I FehaTRE o JTTER T 5 A H T 1 Gl 369 T 8 7

(&)  Tommsd B O e A wEEe/ wEsTar 1w (30EE)
(B) RO W B (87)

(C)  fumon i fagh % wv d gfg (Frmm)

D)  eTivuren w1 (afe)

(E) fifea fram =1 sqmmr 3 (32
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)
3
B

[Question ID = 2033][Question Description = Q27_GP_20MOV_S1_SHAAN]

(D), (E). (&). (C). (B)
(D), (C). (B). (A), (E)
D). (B). (B). (A), (C)
(D), (E). (4. (B). (C)

1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4, 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

T YRAH SEATE 6 A -|] WS W5g YA SR F IO A B 7

(A) ==
(B) Huifiw

© dig

D) i

(E) i /emm

Far faw T Rreredi 3 ¥ @ 3w A Hit
(1) = (B) 3R (C)

2  FF (B). (C) 3 (E)

(3) = (B) 3 (E)

4 Fa= (A), (D) I (B)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]

(verbal authority) to inference?

(A)

(B)

©
D)

(E)

Choose the correct answer from the options given below ;

(1)
(2)
(3)
4

Nayaya
Vaisesikas
Buddhists
Mimamsa

Carvaka/Lokavata

(B) and (C) only
(B). (C) and (E) only
(B) and (E) only
(4). (D) and (E) only

1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

prepp
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24) Given below are two statements

Statement () : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (1) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (1} is true but Statement (ll} is false

(4) Statement () is false but Statement (I} is true

Fa 3 o Rw o F

%o (I) : e WRAT TR % AR A s @l 9 % W off e 21

w9 (1) ; aifbs weaar a7 42 sardt 3 6 78 fra uer & sEm e =g sfew axge: =7
sl 2 756 29 8 srem @ )

IR HAF F A °, A g T et # ® wd s o = i

(1) F Q) IR JD) 27 T 7
)  HuT (D) 3 AD 247 315 3l
(3)  =wue () 9cd 2, Aferd A (II) 2159 2|

(4) = (D) 34 2, wE w9E JD) 9o 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
R

[Option ID = 8137]
A A

[Option ID = 8138)
3. 3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List 1l

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (lI) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (I¥) Becuase there is smoke

gefi-1 % @ g=hi-11 = frem fife)
-1 TEt-11
% = =l GECICD]
(&) afirarom i s % T 7 9f @ e gt wan ? w am e} e e
T
(B) =RV 7RI =% A el W AT gl
(C) Fafea Frem 1 sgEwr & (1) sufo veErdl w a2
(D) wenftm ) sn¥ereht slirgron =1 w99 (IV) Wit I= usT 3

= fau 7 faewedl § 9 91 FuC 1 w9 R

1) @&-@, B)-dAID, (C)-aAV), (D)-(IL)
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2 @)-av), B-A), (©)-(), (D)-aL)
(3  @-AID, B)-AV). (O-(I). (D)-AD)
@)  (A-dh, @)-{, (O-d1D. D)-IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

wF oS 4 T Y T 2§ U A4 "ise % Auen &1 iy Ben 2 s o e f e ot 2 9w
St Tt iueiy Aisdl i 3ma SIFpR A Dir 31 999 | =9 2|
o R S U B g @1 e e e 27

(L e (d) Q) =-igmEE
(3)  witus =7 TS gEA (4) T d S IFeE

[Question ID = 2037][Question Description = Q31_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion {A) : Every general-purpose computer must have an Operating System (0S) installed on it.

Reasons (R} : Man and Computer cannot communicate directly,

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) {(A) is true but (R) is false

(4) (A) is false but (R} is true

4= 2t = i T 2 ;. T wifymas {Assertion A) % &9 o foflaa 2 @ ELILE 3T FHI (Reason R)
FETH

UFI (A) ; THF AW YA e | O AR fomem snay=s =9 § weuifia 5 wiEu)
H (R) : A 3R B €ie 9R T I9E § dag T8 9 Rd |

ITUTH AT ok S °, A= fSu T famedl | O 98 3 W w9 hifae

Q) (&) @R (R) I T £ 3R (R). (A) F wEl s R

2 (A IR ®) I T E, A R). (A) = e w6 2
® (A=, afE (R) o B

@ (A g g, @ (R) 79 2

[Question ID = 2038][Question Description = Q32_GP_20M0V_S1_SHAAN]
. 1 [Option ID = 8149]
2 [Option ID = 8150]
. 3 [Option ID = 8151]
. 4 [Option ID = 8152]

e it R

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A} 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B}, (C), (D)
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(4) (D), (C), (A), (B)
gad 921 ° g9 B audl % FH 1 Hoitaiad @i gt % gat F9 i UgaE i)

(A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

D) T Bytes
=t fog o forregt @ @ =t s == Aifew

1 D) A (B
2 @, D ©O.B
3 @.6B).0.0O
@ D). ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4, 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I} : Wi-Fi has a shorter range than Bluetooth,

Statement (I} : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (1) and Statement (ll) are true

(2) Both Statement (l) and Statement (Il) are false

(3) Statement (1} is true but Statement (ll} is false

(4) Statement (I} is false but Statement (I} is true

I o Hea § fows sy o and-wig 2omtatst gF 8, e gt wed g g F

e (D) : -8 I sy F w3
o (1) ; S-S % Wieae ¥ sy i o FE wften 9 a A TeT S 91 g 2

I YT F e °, T8 B e Few § 9 gl se w999 Hifg

(1) = (D) o 3D 1 T £

(2) = (1) S AD 2+ o3 B

(3) = (D) ¥ &, I w97 (D) 93 2

(4) = (D) A 2, S w9 (1D 9 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8157]
. 2 [Option ID = 8158]
. 3 [Option ID = 8159]
4 [Option 1D = 8160]

oLk B2

30) Match List | with List Il :
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g1 & w9 g=h-11 = faem <hifsm)
it g1
(SRR TR 9eg) (sPrtT)
(4) OCR @) <fFa = afafga FwaEs 1 TR T %
for s g )
(B) OMR A wz-frpedm wenet § 37 ¥gH w9 ® fon
T T 2l
(C) Email (I11) STEHTIeTH FrgTHeH
(D) Instant Messaging (AV) GH=RITeTH %‘?ﬁjﬁ%‘ﬂ#
e 13w e forreal 4 @ gt SR @ w9 I
(1) (A)-AD. (B)-@). (C)-AV), (D)-1I)
(2) (A)-AD, (B)-(D). (C)-(1I), (D)-(IV)
(3) (A)-(D). (B)-(IL), (C)-(1I). (D)-(IV)
(4) (A)-(D), (B)-(ID), (C)-AV), (D)-(I1T)
Match List I with List IT;
List I List II
(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinaiions
(C) Email (III) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
1)  @-aAD, B)}-@). (O)-AV). D)-AII)
(2) (A)-AD, (B)-(D). (C)-(1L), (D)-(1V)
3  A-O, (B)-dh, (O)-(IID, (D)-(IV)
@  @-@. B)-dD. (O)-AV). D)-11I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_51_SHAAN]
1.1

[Option ID = 8161]
2. 2

[Option ID = 8162]
3.3

[Option ID = 8163]
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Frafafiga 4 o H-ar vk SS9 w1 AR = g ame 27

(1) UoH SHAAES (2) Thures Ferrse
(3) A SEATHES 4 e

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
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(3) Coal (4) Hydro Power
frafafiga 7 @ - <= gid 9T w1 = 98 27

(1)  warfm s (2) uEd S
(3) e (4) St

[Question ID = 2043][Question Description = Q37_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4, 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

frfafaa & @ Fia-=f e o9 TR Fedl 3 oK 3uH et @ wH A | ¢

1 9= (2) eyt e
(3  wEmd 4) qFF

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) Mational Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

ARG WERR ! FieaviiE 1% ar9-1 % de8 § NMSHE Fefafiaa § 2 frmem qamer 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayvan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B}, (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frfefas 7 @ T gl w1 aftse 99 T3 % TR SR Sy T W 9 B 7
(A) IS SISHAHATES

(B) FER @y (PMas)

€y wSE

(D) HeA

(E) FIT5e® SRS
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T U Y el # | "al ST H1 S99 T

1) = (B), (C) 3R (D)
2  F A), (B) R (C)
(3 e (B) 3 (D)
(4) = (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182)
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184)

36) In context of Higher Education, Hon'ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?

(1) UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

7= T & ged o, ardE swaw =EeE A gl fian § uw ggEsn R 9 fuife +9 % o
Frtafaa o © fra oo P /wrea =t e G m?

1 7 @ wWHAS
(3 wHand 4) uwamEH A3

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186)
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188)

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listl

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; {II) Bengaluru

(C) NDRI ; : (lIl) Lucknow

(D) CDRI ; ; (IV) Karnal

A1 % iy go-11 = e Hifen
g1 gt 11
A wAgTd O &
B wWasidT ID) g
(C) T F AW T III) wE s
(D) i 2 s o (IV) =

F= for o fawedl & @ od S W T Fifw

1  &-dD, B)-II), (C)-I), M)-AV)
@)  (A)-dD, B)-O). (G)-AV), (D)-(11I)
(3  (A-dID, B)-aD). (O)-D). D)-AV)
(9 (A-AV). (B)-dID, (O)-AD. (D)-D)

[Question ID = 2048][Question Description = Q42_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8191]
4, 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?
(A) Articulate new directions for research and innovation in technology.
(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
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(C) Engage multilingual experts to help promotion of all Indian Languages.
(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).
(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :
(1) (A}, (D), (E) only
(2) (A), (B), (E) only
(3) (B), (D}, (E) only
(4) (A), (C), (D) only

73 forem fife (w1 € 1)-2020 % @ 3 & v Fit Ty FE T @ 2| 39 Ferm % T w2

() TR § oEYH it TR g e fEw R %)
(B)  ftr =i gugH 3g WEfvER % WH % Geyg # Rl & g SEM-U2H g9 U W9 gl |
(©)  wfi e st ) srEn 3 A werrn gy agnd e i

(D) Tawer aieEl, B o oA iEd ¥ & § A A W A 3y ontHEEe
R 1 YR SR g SAAUE IEEAH WA Fl

(E)  foreq dienfirdh 4 sifgs ofit g amarsti =1 oo s

@ fau mu faeedt ¥ O OEl s W = il

L == (A). D), (B)
2  %Ed (A) (B), (B)
(3 %« (B), (D), (B)
4 FaE(A), (©). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S$1_SHAAN]
1. 1 [Option ID = 8193)
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A}, (C), (D) only

(3) (B}, (C}, (D) only

(4) (C), (D), (E) only

Frefafea ¥ @ -9 3-sifrm 59 87

(A)

B) =

(€ T

D)

(E) 75

H= fau o feeret © o Tl ST 1 BT

(1) F=4 Q). (B). (B)

s ™ i e
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L) AT L), ) LR)

3 e (B), (O). (D)
@ (), D). (B)

[Question ID = 2050][Question Description = Q44_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T T % TIEA o9 gR A 2015 H uaa fawE wed-4 @ getug Frefafea 3 @ Sh-w @9 smaEn

T Y
(1) a9 |\ R agEw (2) TorETTgER e
(3) TS e (4) = TEER TS STEEE

[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3, 3 [Option ID = 8203)
4, 4 [Option ID = 8204]

Topic:- General Paper_5et1_C
Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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major crisis faced by the world since World War Il is in which area?

(1) Industrial (2} Technological
(3) Communication (4) Health

facftar forgerg = =12 faza =1 as@ sz de Foe &9 & s 27

(1)
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[Question ID = 2052][Question Description = Q46_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8205]
2. 2 [Option ID = 8206]
3. 3 [Option ID = 8207]
4. 4 [Option ID = 8208]

2)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEER = Frefataa § 8 e o W) wae A8 ugi 27
(1) = (9) T

(3) g 3 v (4) FEAR

[Question ID = 2053][Question Description = Q47_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4, 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica
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[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]

L]

Option ID = 8213]

2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Option ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechne in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDPF  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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1)
(3)

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

Option 1D = 8217

3 [Option ID = 8219

]
2 [Option ID = 8218]
]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechne in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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[Question ID = 2056][Question Description = Q50_GP_20NOV_51_SHAAN]
1 [Option ID = 8221]

2, 2 [Option ID = 8222]

3, 3 [Option ID = 8223]

4. 4 [Option ID = 8224)
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